CHAPTER 1. INTRODUCTION ]

Clearly (FyC'y,+] is not a group (since a = 0% a € F3Cy). Also (Faly
{0}, < ) does not form a group (sinee (14 2)* = 0 and 0 is not an element of
FaCy '\ {0}.

Note : that the unit group of F3y is {1, x}.
U(F4C)

U(FCy) = {1, 2} = O 1 f1] =

Conjecture 1.33 WRG) = G.

Note that 7 is isomorphic (as a group) to a subgroup of W(RG) via the
embedding

#:G—=UWRGE) g—1yg
We alten associate & with 8(() < W RG) and abusing the notation, we write
7 = U R

Recall that in Fo, (1 4+ 2)* = 0. So 1 + 2 is the only zero divisor of Fay,

Conjecture 1.34 RO = {0} UL[AG) U ZDRG) (where ZD(RG) are the

zeve divisors af G,

Consider (1) FyCy and (2) FoCy,

(1) Byl
Fy'y = {01 4+ b.x|a,b € Fy}. There are 3 cholees for a € {0,1, 2} and there
are 3 choices for b€ {0,1,2} so there are 3.3 = 9 elements in FyOy.

(2) FaCly



